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Topic: Identifying Sentence Errors                     

Chapter: Errors in Grammar and Usage 2
As we have seen that nouns and verbs must agree in number and tense, so also must pronouns and antecedents. The Identifying Sentence Errors Section of the SAT Examination almost always includes one or more questions that test your ability to recognize errors in agreement between pronouns and their antecedents. For example: 

The museum is again displaying their collection of tribal artifacts.

The plural pronoun ‘their’ fails to agree with its singular antecedent ‘museum’. The correct pronoun is ‘its’. 

Practice Questions

Q1.

Judy was so painfully shy that it was an ordeal for her to speak up when the teacher called on him in 

      A                                            B                          C                                                                   D 

class. No error.

               E

Answer: D

Explanation: Since Judy is a girl the second pronoun should also be ‘her’.

Q2.

The family doctor advised the parents to consult a pediatrician about his child’s ailment. No error.
                 A                                                B                                         C                   D            E

Answer: C

Explanation: Since the noun ‘parents’ is plural the pronoun should be plural as well.

Q3.

Though Aunt Betty at times would reprove Mark for inattention in church, she believed she was at 

                     A                                                 B                                              C                  D

heart a God-fearing lad. No error.
                                 D         E

Answer: D

Explanation: Aunt Betty’s thoughts are about a lad called Mark, so the corresponding pronoun should be ‘he’.

Q4.

They fired upon the enemy from behind trees, walls and any other point of vantage they could find. 

   A                           B                                                  C                                                D

No error.
      E

Answer: E

Explanation: There is no error.


Q5.

When the sun was at their zenith, the glare was not as strong at sunrise and sunset. No error.
    A           B                C                    D                                                                             E

Answer: C

Explanation: Since the noun ‘sun’ is singular the pronoun should be singular as well. The correct pronoun is ‘its’.

Q6.

Even the most agreeable toddlers can begin to act querulous if he miss their nap. No error.
                  A                        B                                                     C             D                E

Answer: C

Explanation: Since the noun ‘toddlers’ is plural the pronoun should be plural as well. The correct pronoun is ‘they’.
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